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|
_ U P T A 1 I, I, Upi
v A !VXziszimsz‘msz Vx2
| | i .
D 63 MOG 6 6,3 0,3 © 100 2
D 77 MOG 2 6,3 0,3 350 | 5 50
EAA 11 Tif 1 6.3 0,35 | ; |
UAA 11 TIf 1 01 | 2005 300
EAA 91 eur | 2 6,3 0,3 i 1
HAA 91 eur \ 2 12,6 0,15 |
’ J 117 | 330 9 54
UAA A eur 2 19 0,1 ‘ 3 330
3ALS amer 2 3,15 0,6 |
EB 41 eur 3 6,3 0,3 |
EB 91 eur 2 6.3 0,3 150 = 420 9 54 330
UB #1 eur 3 19 0,1
M 8079?) Mul 2 6,3 0,3 [ 150 460 10 60 360
R 128 SFR 12 |18 0,2 200 5
6AZS amer 4 6,3 0,15 150 420 4
6 B 31 Tes 5,63 0,3 L1117 330 9 54 330
6D2 Maz 2 1063 0,3
20 D 1 Maz 2 | 95 0.2 } 500 ? 50 300
6 H6 int 6 | 63 0,3
6 H 6-G int 7 i 63 0,3 150 420 8 48 330
12H6 int 6 1126 0,15
7AG6 amer 8 6.3 015 |
5679 GE 9 6,3 015 . 130 8 45 330
5726Y) int 2 6,3+10% 0,3 17 360 10 60 360
5829 amer @ 13 6,3 0,15 | |
5829 WA?) | amer | 13 | 63:£5% o015 130 330 5.5 33 360
5896°) amer 10 6,34+ 5% 0,3 { |
5903°) amer 10 | 26,5+ 5% 0,075| | :
6052+) amer 10 | 63£5%| o3 (10 40 10 50
6053+) amer 10 | 26,5+ 5% 0,075 | | ‘
6110°) amer 11 63+ 5% 015 f - 420 4 26,5
6887 RCA 2 6,3 0,2 | 360 ‘ 10 30 150
6919 amer 2 6,3 0.2 165 ! | 3
1) vide *4, a, b, c,f, g %) vide *4,2a, b,c,d, e, f, g 5) vide *4
?) vide *4,a, b,d, g 4) vide *4,a, b, c, e ) vide *4,a, b, c = 10000, ¢,f, g
Co.iky Couiks Caa, Cayfky+f+e Coylkgtfe 1 Chrfar+fie } Ciylosf+e
T. SRR ——
pF pF pF pF pF ] pF pF
D 63 6 7 0,18 \
D 77 2,2 2,2 0,025 3,5 3,5 |
EAA 11 0,015 5,3 52 ‘ 50 51
EAA91 0,026 3,2 3,2 3,5 3,5
EB 41 3,5 3,5 0,03 .
EB 91 3 3 0,026 3,4 3,4 3,4 3,4
M 8079 0,026 3,2 32 3,9 3,9
6 AL 5 | 0,026 32 3,2 3.6 3,6
6D2 1,68 1,65 0,021 45 45 5,1 52
6 H6 3 3,4 0,1
6H6G 3 4 01 |
7A6 2 2,6 01 !
5726 0,026 32 32 3,9 3,9
6887 1,4 1,4 2,2 2.2 3,5 3,5
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A+A

Equivalents

o+ 250V
Ratiodetector

AA 91 EY Sim = EAA 91 | GL-5726%) GE = 5726 6 H 6-GT int = 6 H 6-G
CK 57261 Ray = 5726 HF 3109 RFT = 6 H 6-G 6 H 6-MG int = 6 H 6-G
CK 61103 Ray = 6110 M 8212y Mul = 5726 6 X6C CCCP = 6 H 6-G
D2 M9 SFR = EAA 91 | OSW 3109 RFT = 6 H 6-G 6 X6F CCCP = 6 H-6-G
D 27 amer = EAA 91 | QA 2404°) Osr = D77 6 X6M CCCP= 6H 6
D 152 Marc = EB 91 WT-261 amer= 6 H 6 10 D 2 Bri = UAA 91
DD 6 Fer = EB 91 WTT-103 amer = 6 H 6 12 AL 5 amer = HAA 91
DQ 77:3) Marc = D 77 6 AL 5 amer = EAA 91 5726/6 AL 5-W1) amer = 5726
EAA 91 W!) SFR = EAA 91 | 6 AL 5-WY) amer = EAA 91 6058 Bri = EAA 91
EAA 901 Lor = EAA 91 | 6 B 32 Tes = EAA 91 6097Y) amer = 5726
EAA 901 S8 TIf = EAA 91
2 A K 3 A, M
1 U “
K, A,
13 A4,
K,
k !
Ut F -
: FYF
EAA91 EB41
7 K, A4 8 £ 9 Feentr 10 4,
A 4, A 4, A K, A
F F K, K K, K, F F
E T K, FF FaF 4,
6H6-6 TAG 5679 5896
50 pF
" - - r
EF80 = H g HO,.?MQ 100 pF
T 00KS? l '
505F S , 00k , . R
t T J_ T b
! 0[] 95
o 2]] | [0 e SO% G
L nf L U
. —
6+ 250V
Foster — Seeley — FM~ Detector
1" 4,
M2
bO|pF F F
—
, KI KI
Uz = 4
40k
w0pF = K2 L 00 6110
T 2nfF '
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